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Question Id : 68634043342 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 68634043343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634043344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634043345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634043346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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686340171214. 2

686340171215. 3
686340171216. 4

Question Number : 5 Question Id : 68634043347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 68634043342 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time



: N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634043343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634043344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634043345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634043346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634043347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 6863401419



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 68634043348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634043348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634043349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634043349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl o T U] Fa=TH & HIY Y gid & 96 HHiaiad 4 9 1 ded g |

1. FaY died
faem

. fepa fa=mor
4. GO YD

Options :

686340171225 1
686340171226. 2
686340171227. 3
686340171228. 4

| )

L]

Question Number : 8 Question Id : 68634043350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634043350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634043351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634043351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634043352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634043352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634043353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634043353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634043354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



09-[23-32-(73-54-3.7)]

1.0.18

[ ]
=]

4.-2.6

Options :

686340171245. 1
686340171246. 2
686340171247.3
686340171248. 4

Question Number : 12 Question Id : 68634043354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634043355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634043355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634043356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634043356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634043357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634043357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634043358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634043358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634043359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634043359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634043360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634043360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634043361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634043361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634043362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634043362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g YT & 6 TdaR 1983 P §HT U Sl U IAGaR U, ol 1984 T TS TG HIg & fohd T
TS

1. 9HaR
2, §YaR
o

4. FehdR

Options :

686340171277. 1
686340171278. 2
686340171279. 3
686340171280. 4

Question Number : 21 Question Id : 68634043363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tt 3 3o 4 & ufka: aRkyme B el & THE Seig safd e S 3 HEIAAIg

1. Ydia 3uTg
TP 39T

1. RfdP uUg
4, YT (INSAT)

Options :

686340171281. 1
686340171282.2
686340171283. 3
686340171284. 4

| )

[#5]

Question Number : 21 Question Id : 68634043363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gedt F 3T 4 & TRk afvymor 9 el & T Sefig safd o SuE S HEI g
1. Ydi I9Ug

2. Rfdd IuIg

3. Y- WdP UUE

4. ST (INSAT)
Options :

686340171281. 1
686340171282. 2
686340171283. 3
686340171284. 4

Question Number : 22 Question Id : 68634043364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 D1 Y 11§ A Siforg
LIST1 LIST I
TEgHIT=a" ST IH
A [dTcd] L BRids
B. [Eacid! I1. [l
C. [HRdY UcgHi—aH Hu-l 111 [PRIYE
D. el IV. [9@c
FofRad fAeel & T 981 31 &1 98- Bifod -

1. A-IIL. B-1. C-IV, D-II
2. AL B-IV, C-1, D-III
3. A-IIL B-IV. C-1. D-II
4. A-IL B-1. C-IV. D-III

Options :

686340171285. 1
686340171286. 2
686340171287. 3
686340171288. 4

Question Number : 22 Question Id : 68634043364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

LIST I LIST I
TEgH g™ U=l T

A [ETcd! 1 ERigs

B. [EeTam! 1. [FRa

C. [HRd™ TegdIag St 1L [PRIIE

D. [Free] V. Rq@e

FofaRad Aol & T 98! 3 &1 98- Fife -

1. A-IIT. B-1. C-IV. D-II
2. A-IL B-IV. C-1. D-11I
3. AL B-IV. C-1. D-II
4. A-TI B-1, C-IV, D-1I1

Options :

686340171285. 1
686340171286. 2
686340171287. 3
686340171288. 4

Question Number : 23 Question Id : 68634043365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR (3ieHe) TUG o U G Bl dlei 4§ A 3R 3 G G&H &l GIcl & o (o0 Hg bl 6|
43 "edl [y 9 § ol Sl g

1. RIPER
_9& aRada

IS-01S
4. 9T TR 9HYUr

Options :

686340171289. 1
686340171290. 2
686340171291. 3
686340171292. 4

| )

[#5]

Question Number : 23 Question Id : 68634043365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR (3h8) TG & Uh Jad i alar § Ad 3R 30 GIR Fad &1 aa o P (070 Hg 9Pl 6|
gg Yol g v 7 ol 5t 81

1. RPER
1&g afyad

IB-TTS
4. e TR IHY0r

Options :

686340171289. 1
686340171290. 2
686340171291. 3
686340171292. 4

[

L]

Question Number : 24 Question Id : 68634043366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

I I
A |3 gae 1 [FTOre T AT
B. RAow [ 11 [o5. o, S
C. [gde A% 15T giree] 111 [eoric wRad!
D. [4r=re Giaw T 1v. [ [dadg
fafead faeedl O I 98l SR &1 9494 Sifut

1. AT BTV, C-II. D1

-2

AT B-IV, C-1 D-II
3. A IV, B-III C-1. D-II
4. ATl B-IV, C-1, D-TII

Options :

686340171293. 1
686340171294. 2
686340171295.3
686340171296. 4

Question Number : 24 Question Id : 68634043366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I I
A |3 gue 1 [FTare o AR
B. RAow [ 11 [o5. o, S
C. [gde A% 15T giree] 111 [eoric wRad!
D. [grere giag i 1v. [ [dadg
fafafad faeedl & O 98l IR &1 994 I ;

1. AT BTV, C-II. D1

-2

AT B-IV, C-1 D-II
3. A IV, B-III C-1. D-II
4. ATl B-IV, C-1, D-TII

Options :

686340171293. 1
686340171294. 2
686340171295.3
686340171296. 4

Question Number : 25 Question Id : 68634043367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YebU T S BT % (b ¥U & S &Il §
1. YU oA
2. 49 (BIHH)

& a
1. it

Options :

686340171297. 1
686340171298. 2
686340171299. 3
686340171300. 4

Question Number : 25 Question Id : 68634043367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y& T FA BT F% (59 39 H ST STl &

1. YT oA
2. 7 (W)
3, UBIRHS
4. U=

Options :

686340171297. 1

686340171298. 2

686340171299. 3
686340171300. 4

Part B: Physical Education

Section Id : 686340854
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401420
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634043368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which period Suryanamaskar was performed more as a religious duty than today. a more physical exercise
or training?

1. Vedic Period
2. Early Hindu period
3. Later Hindu period
4. Medieval period
Options :
686340171301. 1

686340171302. 2
686340171303. 3



686340171304. 4

Question Number : 26 Question Id : 68634043368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ 1 H GUIHIBR &1 HaRl- bdd RTINS ididle a1 ui2ienr 4 sifde uifiie ool & =4 ¥ bl
ST Y12

1. dfee BTt
g o g uge
fegedb g

4. HHPTA

| )

[#5]

Options :

686340171301. 1
686340171302. 2
686340171303. 3
686340171304. 4

Question Number : 27 Question Id : 68634043369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The winner of the first ancient Olympic was:

1. Koroebus Zialo

[ )

. Coroebus fabelo

Lad

. Koroibos Elis
4. Coroebus Anthony

Options :

686340171305. 1
686340171306. 2
686340171307. 3
686340171308. 4

Question Number : 27 Question Id : 68634043369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ud YA Sfciud &1 faoldr ATl

i B i oy Y

1. iRlgdd dld
2. PRIEEY Bl
3. PRIgaY Uferd
4. DRI TUHT

Options :

686340171305. 1
686340171306. 2
686340171307. 3
686340171308. 4

Question Number : 28 Question Id : 68634043370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following philosophy emphasizes on "problem solving'?

1. Realism

[

. Idealism
3. Pragmatism
4. Naturalism
Options :
686340171309. 1
686340171310. 2

686340171311. 3
686340171312. 4

Question Number : 28 Question Id : 68634043370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o o 9 19 1 <RH-3E R G R 99 ST 82
1. TUaTS
. SfTexiarg
 FAERAG
4. Yepfdarg

Options :
686340171309. 1

[

L]



686340171310. 2
686340171311. 3
686340171312. 4

Question Number : 29 Question Id : 68634043371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who 1s known as the 'Father of Idealism' in Philosophy?
1. Parker Browne
2. Plato
3. Aristotle
4. Edward Thorndike
Options :
686340171313. 1
686340171314. 2

686340171315. 3
686340171316. 4

Question Number : 29 Question Id : 68634043371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRR § "31ERIaTg & 9% & AW I [SHaE! S 91 82
1. YRS s34
il
IR

_USds YHas®

| )

L

=Y

Options :

686340171313. 1
686340171314. 2
686340171315. 3
686340171316. 4

Question Number : 30 Question Id : 68634043372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following objective of physical education according to educationists carries too much of
idealism?

1. Ethical Character
2. Worthy use of leisure time
3. Neuromuscular Coordination
4. Organic Power and Health
Options :
686340171317. 1
686340171318. 2

686340171319. 3
686340171320. 4

Question Number : 30 Question Id : 68634043372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fRrenfadi & sraR RIS g & FafaRad Sewdl § 3 fegd sexiarg &1 il g2
1. Al afe
2. Rt gwg o1 IRd guanT

3. Higuei ud diAersl o ¥H-ay (RIEp R TH-qY)
4. oid Iifad U9 @Ry

Options :

686340171317. 1

686340171318, 2

686340171319. 3
686340171320. 4

Question Number : 31 Question Id : 68634043373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Endomorph body type according to sheldon is
1. A muscular body
2. A pear shaped body
3. An Apple shaped body
4. A lean and thin body

Options :



686340171321. 1
686340171322.2
686340171323. 3
686340171324. 4

Question Number : 31 Question Id : 68634043373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YIS & AR TG YRING WEAIUH S UBR B gl ol
1. IO TRR

TTRTCT & PR BT IR

A9 b PR BT IRN

| )

[#5]

=

. GSd1 Udall IRR

Options :

686340171321. 1
686340171322.2
686340171323. 3
686340171324. 4

Question Number : 32 Question Id : 68634043374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

which of the following is not the technique of motivation?

1. Cognitive Approach

b2

. Intuitive Approach
3. Pedagogical Approach
4. Facilitation Approach

Options :

686340171325. 1
686340171326. 2
686340171327.3
686340171328. 4

Question Number : 32 Question Id : 68634043374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 ¥ & F 91 TF TR &1 d&-1® ol 67
IFTES EPHI
. 3{d: URTHD UEdId
 X&fTOr TaTa
4. FRIHR0 Fd1d
Options :
686340171325. 1
686340171326.2

686340171327. 3
686340171328. 4

fa—y

[

L]

Question Number : 33 Question Id : 68634043375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Playing Racket games like Tennis. Badminton. Squash ete, have similar part whole involved and in such
cases 1s quiet obvious.

1. Goal Setting
2. Effect of Exercise
3. Transfer Effect
4. Anxiety
Options :
686340171329. 1
686340171330.2

686340171331. 3
686340171332. 4

Question Number : 33 Question Id : 68634043375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¢, SSffre SiR Whre Si1fe Yohe I Bl o ard @l 3 Ud 99 fohansfl &1 oo e a1 9 & o
Gal HRIESEIICE

1. Teg freo

. oI & YHTa

[

L]

RIRUT 941G

P

Options :

686340171329. 1
686340171330. 2
686340171331.3
686340171332. 4

e

Question Number : 34 Question Id : 68634043376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who said that " Man is by nature a social animal " ?

1. Auguste

| )

. Aristotle

LF¥]

. Herbert Spencer
4. Karl Marx

Options :

686340171333. 1

686340171334. 2

686340171335.3
686340171336. 4

Question Number : 34 Question Id : 68634043376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT WA U@ AHToe 1ol 8 g% [ $e1 g
1. 3T
2.
3. BREC AR
4. T H1E

Options :



686340171333. 1
686340171334.2
686340171335.3
686340171336. 4

Question Number : 35 Question Id : 68634043377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a feature of culture?

1. Culture is static

[

. Culture 1s diverse

L]

. Culture 1s 1deational
4. Culture is shared by a group of people

Options :

686340171337. 1
686340171338. 2
686340171339. 3
686340171340. 4

Question Number : 35 Question Id : 68634043377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ o I o1 i Tepld @] favidr 981 82

 Hepld RR B 8

Hepla ¥ faftraar gl §

i [GaIRTES gl §

 Tepicl safral 3 W GRT 9= &1 o g

Options :

686340171337. 1
686340171338. 2
686340171339. 3
686340171340. 4

—

| ]

[#5]
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Question Number : 36 Question Id : 68634043378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a characteristic of a primary social group according to C.H. Cooley?

1. Close relationship

[

. Small in size

L]

. Self-dependence among members
4. Common commitments among members
Options :
686340171341. 1
686340171342.2

686340171343. 3
686340171344. 4

Question Number : 36 Question Id : 68634043378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. U9 3 B IR Mg T I B i R uufie gmifore 99 #1981 § 2

1. 9y Ha
2. HTHR H Bt
3. gawl & 7Y fdS Wdadl
4. grdeIe Ufaagdl

Options :

686340171341, 1

686340171342. 2

686340171343. 3
686340171344. 4

Question Number : 37 Question Id : 68634043379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

shall always be remembered as pioneer for developing of a sports system in the form of Pan-
Hellenic festival.

1. Greece
2. Rome
3. France
4. Italy

Options :



686340171345. 1
686340171346. 2
686340171347.3
686340171348. 4

Question Number : 37 Question Id : 68634043379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bl U7 gaH® digR & ¥4 & Us Td yunel [as i o & e gaen spofi =a d arg
fepar S|
1. 9
Rk

4, el

Options :

686340171345. 1
686340171346. 2
686340171347.3
686340171348. 4

| ]

[#5]

Question Number : 38 Question Id : 68634043380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s the maintenance of relatively stable conditions in the body's internal enviroment produced by
body's regulatory process.

1. Homogenasis
2. Homeostasis
3. Adaptation
4. Stability
Options :
686340171349. 1
686340171350. 2

686340171351. 3
686340171352. 4

Question Number : 38 Question Id : 68634043380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. R
2. it

3. 3P
4. RRqn

Options :

686340171349. 1
686340171350. 2
686340171351. 3
686340171352. 4

Question Number : 39 Question Id : 68634043381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Name the component which protect and regulates various body processes.
1. Fats
2. Protein Carbohydrates
3. Carbohydrates
4, Vitamins and minerals

Options :

686340171353. 1
686340171354.2
686340171355. 3
686340171356. 4

Question Number : 39 Question Id : 68634043381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafte RIS Uidharati &1 TR&U Ud U0 &= aTd e &1 19 gdigu?

1. a8l
2. JicH

3. PIERIEST
4, faerfim sfv @i @aon

Options :



686340171353. 1
686340171354. 2
686340171355. 3
686340171356. 4

Question Number : 40 Question Id : 68634043382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Glycogen - Storage can be used by an indiviual during

1. Vigorous Exercise

[ )

. Heated discussion
3. Meditation

4. Normal Routine

Options :

686340171357. 1
686340171358. 2
686340171359. 3
686340171360. 4

Question Number : 40 Question Id : 68634043382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& IR U afad gRI A ® e SR &1 3uanT f&ar o g
1. Wed SO
UIRGR §89

3,94

4. gy fe=at

Options :

686340171357. 1
686340171358. 2
686340171359. 3
686340171360. 4

| ]

Question Number : 41 Question Id : 68634043383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name the microbes those are hundred percent disease-causing organism-
1. Fungi

2. Bacteria

L¥ 5]

. Viruses
4. Protozoa

Options :

686340171361. 1
686340171362. 2
686340171363. 3
686340171364. 4

Question Number : 41 Question Id : 68634043383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G SiaTup3fl & A1 ARET S i id=rd A9 SR oild o)
1. Ta® (B
gt
SCIEES]
4, THCTSII3T

Options :

686340171361. 1
686340171362. 2
686340171363. 3
686340171364. 4

| )
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Question Number : 42 Question Id : 68634043384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Major aim of transitional period is -

1. Recreation

(B

. Stablizing performance

3. Achieving top form

=y

. Recovery and relaxtion

Options :
686340171365. 1



686340171366. 2
686340171367. 3
686340171368. 4

Question Number : 42 Question Id : 68634043384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o1l PTd BT T2 Fex4 gl
1. BARGH
TekH B R H

3= USRI &1 AT Al

[ ]

L]

=

QU Ud fayry

Options :

686340171365. 1
686340171366. 2
686340171367. 3
686340171368. 4

Question Number : 43 Question Id : 68634043385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s related with Gene Doping.

1. Intravascular manipulation of blood
2. Psycho active compound with sleep inducing properties
3. Transfer of polymers of Nucleic acids
4. Through operation

Options :

686340171369. 1

686340171370. 2

686340171371. 3
686340171372. 4

Question Number : 43 Question Id : 68634043385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171369. 1
686340171370. 2
686340171371. 3
686340171372. 4

Question Number : 44 Question Id : 68634043386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Dr. Hans Reindell is associated with-

1. Continuous training

b2

. Interval Training
3. Circuit Training
4. Cross Training

Options :

686340171373. 1

686340171374.2

686340171375.3
686340171376. 4

Question Number : 44 Question Id : 68634043386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
8l g1 s EEGIEGE
ROR wiRiam
. 3RS WiRI&
GiRie wiRregor
4, IG CHT

—
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Options :



686340171373. 1
686340171374.2
686340171375. 3
686340171376. 4

Question Number : 45 Question Id : 68634043387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Knock-knee is a condition in which the knees are closer to each other while the feet remain apart when a
person is in a standing position. Knock-knee is also known as

1. Pes Planus

| B]

. Genu Valgum
3. Gemu Varum

4, Bow knees

Options :

686340171377. 1
686340171378. 2
686340171379. 3
686340171380. 4

Question Number : 45 Question Id : 68634043387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=icb-Al Uep T srqeu & s v oufed & @S giH ol fufd & go- Ug-urg gld § SR R g gl
o Hie-t Bl A A SETSE e

1. 99¢ |
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Options :

686340171377. 1
686340171378. 2
686340171379. 3
686340171380. 4

| )

5]

=

Question Number : 46 Question Id : 68634043388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following movement does not occur at Neck Joint?

1. Flexion

[

. Rotation

L]

. Hyper Extension

4. Adduction

Options :

686340171381. 1
686340171382. 2
686340171383. 3
686340171384. 4

Question Number : 46 Question Id : 68634043388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 1 O @ i ifaal TR & SIS WAl Bl 62
1. TR
RGEIE]

| ]

T

. BISUR UgHcYH

4. TS
Options :
686340171381. 1
686340171382. 2

686340171383. 3
686340171384. 4

Question Number : 47 Question Id : 68634043389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The Core content of Biomechanics is made of following diverse subjects except
1. Biology
2. Physics
3. Psychology

4. Engineering

Options :
686340171385. 1



686340171386. 2
686340171387. 3
686340171388. 4

Question Number : 47 Question Id : 68634043389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oI Tt Bt Ja JEaL, P BIS B [l fewai A 15 8

1. Silg faqim
fifgest

T
+. Soffafen

Options :

686340171385. 1
686340171386. 2
686340171387. 3
686340171388. 4

[ ]

L]

Question Number : 48 Question Id : 68634043390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a type of Research?

1. Fundamental Research

[

. Typical Research
3. Applied Research

4. Action Research

Options :

686340171389. 1
686340171390. 2
686340171391. 3
686340171392. 4

Question Number : 48 Question Id : 68634043390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171389. 1
686340171390. 2
686340171391.3
686340171392. 4

Question Number : 49 Question Id : 68634043391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is a Type of Probability Sampling?
1. Tudgmental Sampling
2. Snowball Sampling
3. Multistage Sampling
4. Quota Sampling
Options :
686340171393. 1
686340171394. 2

686340171395. 3
686340171396. 4

Question Number : 49 Question Id : 68634043391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 & T B 91 U FUIdd 1 BT YHR §°
1. ATSETHS

| ]

<Al AHAT d4-

[#5]

 SgERI AT =9
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Options :



686340171393. 1
686340171394. 2
686340171395. 3
686340171396. 4

Question Number : 50 Question Id : 68634043392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

" The scope or extensiveness of the study in terms of Variables. no. of subjects & the geographical area within
which data is to be calculated”, comes under which body of Report Writing?

1. Hypothesis of the study
2. Lumitations of the study
3. Significance of the study
4. Delimitations of the study

Options :

686340171397. 1

686340171398. 2

686340171399. 3
686340171400. 4

Question Number : 50 Question Id : 68634043392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=R fawal &t g 3R Yiifee &9 & ey I 0T &1 SR 1 g ddl forgd Hid Se1 &1 o1 &t
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Options :

686340171397. 1
686340171398. 2
686340171399. 3
686340171400. 4

Question Number : 51 Question Id : 68634043393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sargent Jump test is used to measure component of Physical fitness.

1. Speed

[ ]

. Muscular Endurance

L]

. Balance
4, Power
Options :
686340171401. 1
686340171402. 2

686340171403. 3
686340171404. 4

Question Number : 51 Question Id : 68634043393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TERiC O <& BT 9. TRIRG g & Yo I HIUA & ferg feoar &l g
1. 77
2. TURiT FE &1

4
4. 9c1

Options :

686340171401. 1
686340171402. 2
686340171403. 3
686340171404. 4

Question Number : 52 Question Id : 68634043394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following test item is used to measure abdominal strength and endurame in AAHPER youth
fitness test?

1. Sit ups
2. Pull ups
3. Standing long jump

4, Shuttle Run

Options :
686340171405. 1



686340171406. 2
686340171407. 3
686340171408. 4

Question Number : 52 Question Id : 68634043394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSR (AAPHER) gY he-1 TRI&U & dod Jaxid fek SR e &Fdl & 710+ & fou Fafea @ 9
P11 T G0 e ST 82
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Options :

686340171405. 1
686340171406. 2
686340171407. 3
686340171408. 4

Question Number : 53 Question Id : 68634043395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of validity refers to the extent to which the test questions are representative of the skills in the
specified domain?

1. Content Validity
2. Face Validity
3. Criterion Validity
4. Construct Validity
Options :
6863401714009. 1
686340171410. 2

686340171411. 3
686340171412. 4

Question Number : 53 Question Id : 68634043395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340171409. 1
686340171410. 2

686340171411. 3
686340171412. 4

[

L]

Question Number : 54 Question Id : 68634043396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following objective is not achieved through intramural?

1. Improne the physical effieiency of all students

[ )

. To provide new rules and advanced techniques
3. To act as an mstrument of talent selection and grooming
4. To develop social qualities like co-operation and group harmony
Options :
686340171413. 1
686340171414.2

686340171415.3
686340171416. 4

Question Number : 54 Question Id : 68634043396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171413. 1
686340171414. 2
686340171415. 3
686340171416. 4

Question Number : 55 Question Id : 68634043397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As per FINA's standards an Olympic-size Swimming pool must have the following measurements?

1. 50m in length by 20m Wide

2

. 40m in length by 25m Wide
3. 50m 1 length by 25m Wide
4. 40m in length by 20m Wide

Options :

686340171417. 1
686340171418. 2
686340171419. 3
686340171420. 4

Question Number : 55 Question Id : 68634043397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fOh-1T (FINA) & HF&] & IR 3ldite o foru drurdrd @1 a9+ 9 foifad g e

1. TS 505 TI8TS 208,

2. FHETS 40T, TSI 254

3. @HTs S0t TISTE 254,

4, TS 4081, TISTS 204

Options :

686340171417. 1
686340171418. 2
686340171419. 3
686340171420. 4

Question Number : 56 Question Id : 68634043398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a management process. when we try to let the employees perform the allocated duties. this function of
management in known as:

1. Planning

2. Organising

3. Directing

4. Controlling
Options :
686340171421. 1
686340171422. 2

686340171423. 3
686340171424. 4

Question Number : 56 Question Id : 68634043398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. FareH
4, Frgam
Options :
686340171421. 1
686340171422. 2

686340171423. 3
686340171424. 4

| )
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Question Number : 57 Question Id : 68634043399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which amongst the following personalities 1s known as the " Guru " of Management?

1. Peter Drucker

| B

. Henri Fayol
3. Ludwig von Bertalanffy

4. Fred J. Weston



Options :

686340171425. 1
686340171426. 2
686340171427.3
686340171428. 4

Question Number : 57 Question Id : 68634043399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & T o I Afdad $I Hae= T 91 I oH1 a1 87
1. lex gahr
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Options :

686340171425. 1
686340171426. 2
686340171427.3
686340171428. 4

| )

L

Question Number : 58 Question Id : 68634043400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following award was introduced in 19857

1. Maulana Abul Kalam Azad Trophy

| B

. Rajiv Gandhi Khel Ratna Award

LIF¥]

. Arjun Award
4. Dronacharya Award

Options :

686340171429. 1
686340171430. 2
686340171431. 3
686340171432. 4

Question Number : 58 Question Id : 68634043400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1085 T (ARG T ¥ 314 91 3(@rs == (a1 T
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Options :

686340171429. 1
686340171430. 2
686340171431. 3
686340171432. 4

| B

Question Number : 59 Question Id : 68634043401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which University has won the Maulana Abul Kalan Azad Trophy maximum number of times?

1. Panjab University. Chandigarh

| B

. Guru Nanak Dev University. Amritsar
3. Maharishi Dayanand University, Rohtak
4. Punjabi University . Patiala

Options :

686340171433. 1

686340171434. 2

686340171435. 3
686340171436. 4

Question Number : 59 Question Id : 68634043401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Sd Bam TS 2io!, g Aerfaenad = Faifes ar sidl 82
1. Uoire fayfaemey, dsie
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Options :



686340171433. 1
686340171434.2
686340171435. 3
686340171436. 4

Question Number : 60 Question Id : 68634043402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which modern Olympic game was not held due to I¥! World war?
1. vitt

¥ \_rth

3 Iwurth
4. vtk

Options :

686340171437. 1
686340171438. 2
686340171439. 3
686340171440. 4

Question Number : 60 Question Id : 68634043402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7Y 3% 4 & PRU SH I fdite @d Tl gu A2

1.vidi

| )

vdi

wvd

L
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Options :

686340171437. 1
686340171438. 2
686340171439. 3
686340171440. 4

Question Number : 61 Question Id : 68634043403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 4x100m relay race. 4 athletes of each team participate and exchange batton. What are this measurement of
batton exchange zone at each scratch line?

1. 30 Mitrs. Whole

| ]

. 10m at front. 20 mt. behind
3. 15m at front. 15 mt. behind
4. 20m at front. 10 mt. behind

Options :

686340171441. 1
686340171442.2
686340171443. 3
686340171444. 4

Question Number : 61 Question Id : 68634043403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4x100 HY. 70 318 § 0% ¢ § IR UIa9s e did © Ud ded &1 MEH-UaH $d o Y hd v@l 1R
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Options :

686340171441. 1
686340171442. 2
686340171443. 3
686340171444. 4

Question Number : 62 Question Id : 68634043404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Neeraj Chopra is winner of Olympic championship. Silver medalist of world championship and Diamond
league in Men's Javelin throw. From the following select his personal best throw.

1. 86.76 m
2.9848 m
3. 8994 m

4.9023m

Options :

686340171445. 1
686340171446. 2
686340171447. 3
686340171448. 4

Question Number : 62 Question Id : 68634043404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rt FiYsT sieUe a1 fgold 8. [0y =i R 3k srds i g ohr o gl 3
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1. 86.76 HI.

2.08.48 Hi.
3.89.04 HI.

4.90.23 Hi.

Options :

686340171445. 1
686340171446. 2
686340171447. 3
686340171448. 4

Question Number : 63 Question Id : 68634043405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a way of getting out in the game of Cricket?

1. Hitting the ball twice

[ )

. Obstructing the field

3. Ball Tampering

4. Time Out

Options :



686340171449. 1
686340171450. 2
686340171451. 3
686340171452. 4

Question Number : 63 Question Id : 68634043405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171449. 1
686340171450. 2
686340171451. 3
686340171452. 4

Question Number : 64 Question Id : 68634043406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s not the function of NSNIS Patilia?

1. To promote sports in the country

| B

. To promote high calibre coaches
3. To organise Rural sports
4. Refresher Course for in service coaches

Options :

686340171453. 1
686340171454. 2
686340171455. 3
686340171456. 4

Question Number : 64 Question Id : 68634043406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171453. 1
686340171454. 2
686340171455. 3
686340171456. 4

Question Number : 65 Question Id : 68634043407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first President of Indian Olympic Association.

—

. Maharaja Bhupender Singh

[ )

. Maharaja Yadavinder Singh

L]

. Sir Dorabji Tata
4. Mr. Om Prakash Mehra
Options :
686340171457. 1
686340171458. 2

686340171459. 3
686340171460. 4

Question Number : 65 Question Id : 68634043407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT i 99 & gus e HiF 92
1. TERTST YR &8
2. HERTS Jrafdex 148
3. I ERIGSl eTeT
4. 5t 3 wHTR BT

Options :
686340171457. 1



686340171458.2
686340171459. 3
686340171460. 4

Question Number : 66 Question Id : 68634043408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: In the perspective of physical education the most appropriate explanation of Naturalism 1s that
physical activity is an instrument of self preservation and man's urge for it is innate.

Reason R: Play way learning brings desirable change in child's behaviour and ensures growth and
development.

In the light of the above statements. choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is not the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

686340171461. 1
686340171462. 2
686340171463. 3
686340171464. 4

Question Number : 66 Question Id : 68634043408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171461. 1
686340171462 2
686340171463. 3
686340171464. 4

Question Number : 67 Question Id : 68634043409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: A large number of nerve fibres hold together form a nerve. Through these nerves. messages
travel from one part of the body to another.

Reason R: A nerve cell 1s made up of the cell body. which contains the nucleus and a long structure called the
axomn.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R is not the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :
686340171465. 1



686340171466. 2
686340171467. 3
686340171468. 4

Question Number : 67 Question Id : 68634043409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B EEE A GURI Ul T TP HHYA (Assertion A) G Wﬁ%@ﬁ%ﬁmmw (Reason R) &
U

SHTUBUT A: F51 T2 1 AT dq U I1Y T U@ dES1 a41d © | 59 dEH13 gRI 969, IRR &
U@ U ¥ g YT o € )
WR:?ﬁam&r.ﬁﬁwﬁﬁﬁwsﬁm%mﬁw 3R TS et Y= ol U HeT ol 6.
T STl §

IR FYA & 3AdlD |, Fid feu 0 fawedi 1 9 et 3R &1 999 S |
1. ARREA I T IR R A DI TS IR &

ASRRIAITTE IRR AT TS ARG &

| ]

AGIE. APTR 3T T

LFN]

AL dfPTR I

oy

Options :

686340171465. 1
686340171466. 2
686340171467. 3
686340171468. 4

Question Number : 68 Question Id : 68634043410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: Some people wrongly think that ozone 1s the refreshing air. we breath it at the seaside. It is. in
fact a poisonous kind of oxygen.

Reason R: Air pollution was first brought to a sharp focus when air pollution epidemics took place 1s Los
Angels (1940) and London (1952).

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R is not the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

686340171469. 1
686340171470. 2
686340171471. 3
686340171472. 4

Question Number : 68 Question Id : 68634043410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁagﬁiﬂm@% TF HUHYT {Assertionﬁ)%ﬂﬁﬁ@ﬁ%ﬁwmw(Reason R)a?_
U H:

HTUBYT A: T AT ITEd Tddl & B TG S T, W T 1Y &l 18 S{iof=, ol 54T o1 ST I8
TS UOR 31 sedial Siagor ol

®ROTR: T TSI - YA IR q9 L TP [da1, Sia T Uoierd (1048) 3R @ad (1952) H ag
TN HeTRI 55|

QWRId BYF & 3T H, °d AU 70 fadbedl T 9 el Ik &1 99 Sife|

1. ARREA TUE IR R AT TSI R &
2. A SRR H TA § AR R. AP Jol ARAT ol &

3. AT e AfaR 3TTE

4 ASEIE. APIRTT S

Options :

686340171469. 1
686340171470. 2
686340171471. 3
686340171472. 4



Question Number : 69 Question Id : 68634043411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A: Increase i strength of ligaments and tendons and hypertrophy of muscles are the long term
effects of exercise.

Reason R: A series of sustained muscle contraction have short term and long term effects on muscular system
depending upon the nature and duration of activity.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is not the correct explanation of A
3. A s true but R 1s false
4. Ais false but R is true

Options :

686340171473. 1

686340171474. 2

686340171475. 3
686340171476. 4

Question Number : 69 Question Id : 68634043411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I S Py fqu T T TP AYHYUA (Assertion A) G Wﬁﬁ@ﬂ%ﬂmmw (Reason R) G
U

HTUBUT A: SR 3R Heraf @ Wiaa & g qur AiEuiRe & sifaglE, o & amH THE 6
PRI R: A $ Ul U6 s1afd & rTaR AiufEl & o= 1 Ue e & HiFuel SR iR Y
FIfcre a1 <Te FIfers THa Bid & |

SWRIGd BYH & el 8, < 34U U fasedi § I |8t 9wk &1 98 iU

A SRR 90§ IR R A DI G8! U §

—

A SRR I AT 3R R, A GEl IR e ©

2

3 AT AiPIR SEa T

iy

AT AfPTR I T



Options :

686340171473. 1
686340171474. 2
686340171475. 3
686340171476. 4

Question Number : 70 Question Id : 68634043412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A: Two athletes have same start in 50mts sprint test but Athlete-A takes lead by Athlete-B after first
10mts.

Reason R: Athlete-A has good Acceleration ability. If the object speeds up or travels over a given distance in
a shorter amount of time. then there is acceleration.

In the light of the above statements. choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is not the correct explanation of A
3. A s true but R 1s false

4. A is false but R is true

Options :

686340171477. 1
686340171478. 2
686340171479. 3
686340171480. 4

Question Number : 70 Question Id : 68634043412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B EEE A GURI Ul T TP HHYA (Assertion A) G Wﬁﬁ@ﬁ%?ﬁwmw (Reason R) &
U

HTYDYA A: 50 Hicx B BRI IS H &l TYTie U GOH 4I$ WRY B & R Wy 10 Hex & gy1q
QYA 3, TYdic & ¥ ggd glied R adl g

TRUTR: Ty 3 T 35! @01 amadl g1 afe $i5 g%, & 715 g3l & digdl 9 o8 999 1§ a0 S € dl
T @R BT S & |

SWRIGd BYF & 3HTdip H, 9 AU 70 fasedl T 9 98! Ior &1 994 Sife|
1. ARREA TR R R AP TSI TR &

2. A SRR GHI G § 3R R, A & Ul AR 6l &
3. AT S, dfaR 39T ®
4 ASHOE. APIR TS

Options :

686340171477. 1
686340171478. 2
686340171479. 3
686340171480. 4

Question Number : 71 Question Id : 68634043413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: A researcher expressed the height of samples as tall. short or medium in his research but he can't
describe so much about the height of samples.

Reason R: The qualitative data only tells us about something but does not tell the extent of that something.
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true and R is not the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

686340171481. 1
686340171482. 2
686340171483. 3



686340171484. 4

Question Number : 71 Question Id : 68634043413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 U 40 T §: U 3UBYT (Assertion A) & =0 U [ARIT © dl GIRT 3HD PRUT (Reason R) &
04

SHTUBYT A: U HTHYM al A Ul REd T e $1 Sdlg ®l adl. Sicl 3R 9990 & &9 O e
[T | ORIt i Ty o @ H HfYe qui g1 fba|
BRI R: UNHSD 3H{bs. bad (Bl & &R J Gdld 6. R 390 (KR & aR H el gard |

SRIad YA & HaD |, Hd [Eu U [wedi § I Tt 30 &1 999 DIl |
1. ARREA 9T E IR R AT Gel RSN &

| B)

A SRRIA AT SRR AT TS I TE ©

ATTe. dfeAR 3@

[#5]

4. ASEIE. APIR TS

Options :

686340171481. 1
686340171482. 2
686340171483. 3
686340171484. 4

Question Number : 72 Question Id : 68634043414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Indiana motor fitness test was developed in United State of America 1s 1943 and some test
itemes were revised in 1944 for the high school boys and girls.

Reason R: Test items of Indiana motor fitness test are pull ups or straddle chin-ups. floor push-ups. vertical
jump and standing broad jump.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

| B}

. Both A and R are true and R is not the correct explanation of A
3. Ais true but R is false

4. Ais false but R is true

Options :

686340171485. 1
686340171486. 2
686340171487. 3
686340171488. 4

Question Number : 72 Question Id : 68634043414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{79 & YA [4U T §: U 3HYT (Assertion A) & w0 1 [T § I GIRT 3HD HRUT (Reason R) &
U

ATUDYT A: T 1043 T T T4 AR 1 SFEqH1 AleR - (¥ ¢ [l o ma aur oo
TRIEUI TGl Bl T 1944 T BT5 W0 Ao SR Asihd! & feg G TR fsar mar|

HROTR: SFSTAT AR - ﬁﬁﬁﬂéﬁﬁuﬁmﬂ%% - 3 AT S fo-3, B8 IR I-375,
Edd e dYT G Ha |

SWRIGd BYF & 3HTdid H, 9 AU 70 faswedl T 9 98! Io) &1 994 Dife|
1. ARREA TR IR R AP TSI TR &

2. A SRR GHI G § 3R R, A & Ul AR 6l &
3. AU S, AfpT R 3@ ®

4 ASTIE. APIRTT S

Options :



686340171485. 1
686340171486. 2
686340171487. 3
686340171488. 4

Question Number : 73 Question Id : 68634043415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the sequential order for conducting the Ancient Olympic Games.

A, Start of the events
B. March-past

C. Sacrifice

D. Oath

E. Assembly

Choose the correct answer from the options given below:
1.BE,D,AC
2.E.D.C,B.A
3.E.C.D.B,A
4.D.A.B.C.E

Options :

686340171489. 1
686340171490. 2
686340171491. 3
686340171492. 4

Question Number : 73 Question Id : 68634043415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T dte Gl & SEeH $ gy 8 FE W &1 $HER saiyd $ifeg

A vfogefaf ot g
B. HTd - URE

C. |fet

D. IUY-TBU

E. QM

e fau 7Y fawedt # 9 Tel 3R o1 90 Sifie:

1.BE. D AC

-2

CE DL COB A
3.E.C.D.B.A
4.D.A,B.C.E

Options :

686340171489. 1
686340171490. 2
686340171491. 3
686340171492. 4

Question Number : 74 Question Id : 68634043416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With reference to the OCEAN (Big five Theory of personality). arrange the below given behavioural traits in a
sequential order.

A. Anxious. nervous

B. Friendly. cooperative

C. Active. Sociable

D. Responsible Well organised
E. Creative, Imaginative

Choose the correct answer from the options given below:

1.B,C, A D, E

[

E.AD.C.B
el DDA B E
1. ED C B A

Options :

686340171493. 1
686340171494. 2
686340171495. 3
686340171496. 4



Question Number : 74 Question Id : 68634043416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3. (0) . (0) 3. (B) T (A) TH. (N)- (Afdad @1 Uid fawaiet & Rrgra) & g< 1 e <1 715 sagsiRe
DI HUMER Jlag

A. T, gamar gan
B. fiHad. 9@
C. gfepy. fiaaR

D. fSTHIeR, gogafeyd
E. YT, Hed-reiia

A fau 7Y fawedt # 9 Tel 3R &1 90 Sifig:

1.B.C.AD.E

b2

.E.A.D.C.B
3.C.D.AB.E
4.E.D,C,B,A

Options :

686340171493. 1
686340171494. 2
686340171495. 3
686340171496. 4

Question Number : 75 Question Id : 68634043417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following traditional games in a sequential order from North to South India.

A, Malkhamb
B. Gatka

C. Jallikattu

D. Kambala

E. Kalaripayattu

Choose the correct answer from the options given below:

1LABCDE

b2

.B,.D,A C.E
3.CEBAD
4 B.A.D.E.C

Options :



686340171497. 1
686340171498. 2
686340171499. 3
686340171500. 4

Question Number : 75 Question Id : 68634043417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 TRO Wdl & URd & Io S T SHam fa2n &t 3R, PuraR ogafyd Sifey

A HOdHE
B. TICpI

C' I g (=4

D. BT
E. HARIYYT
i fau 7Tt fawedl O § el STR &1 99 Fiult:

1LABCHDE

2B DA C.E
3.C.E.B.A.D
4. B,A.D,E.C

Options :

686340171497. 1
686340171498. 2
686340171499. 3
686340171500. 4

Question Number : 76 Question Id : 68634043418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following muscles in a sequential order from upper to lower body.

A, Gluteus Medius

B. Rectus Femoris

C. Gastro Enemius

D. Sterno Cleido Mastoid
E. Rectus Abdominus

Choose the correct answer from the options given below:
1LLAB.C.D.E
2B, DB A
3JCCILE A B
4 D.E.A.B.C

Options :

686340171501. 1
686340171502. 2
686340171503. 3
686340171504. 4

Question Number : 76 Question Id : 68634043418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e araufEl @ TR - F1ER SR I -E & »H § Hafyd Sifeu|

A. TIcH mfsag

B. Y& H B

C. TRel 3Ty

D. Bl Hfael-aegs
E. ¥&q Taal—ag

- fau Y fawedt & ¥ Hel ST o 90 Sivie:

1LABCDE

| ]

B, DB A
3.C.D.E.A.B
4 D.EAB,C

Options :

686340171501. 1
686340171502. 2
686340171503. 3
686340171504. 4



Question Number : 77 Question Id : 68634043419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the case of drowmg. if there is a breathimg problem then what will be the sequence of first Aid steps?

A. Kneel at the side of the patient who is lying in prone position.

B. Press on the lower side of the back with both hands with all your strength.

C. Repeat these movements 16 to 17 times in a minute until the patient start breathing.
D. After every two seconds ' stop ' to allow air to rush into the lungs.

Choose the correct answer from the options given below:

1. A-B-C-D

| )

. A-C-B-D
3. A-B-D-C
4. A-C-D-B

Options :

686340171505. 1
686340171506. 2
686340171507. 3
686340171508. 4

Question Number : 77 Question Id : 68634043419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g B fufd &, yra-guw g+ W uryftie geradn o faftrsr =@=ur &1 oF o1 g

A UT & 9 cic gU I & &1 4 g2 & gd a0

B. 3G gt drebd ¥ ST g1l ¥ Uls o (A= fg W gard il

C. 3O I & UH e H 16 T 17 IR SIgU ofd do [ T YA AT URY AT e g
D. Udl® ¢l Y o d1g 3d dlid gdl Bhai § ol Td|

i fau 0 f[daredl | ¥ Uel 3R &1 904 Siig;

1. A-B-C-D

[ ]

.A-C-B-D
3. A-B-D-C
4. A-C-D-B

Options :

686340171505. 1
686340171506. 2
686340171507. 3
686340171508. 4



Question Number : 78 Question Id : 68634043420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to number of playmg members of a team (excluding stand by players) arrange the following games
in descending order.

A Volley Ball
B. Foot Ball
C. Kho-Kho
D. Kabaddi

E. Basket Ball

Choose the correct answer from the options given below:

1.B.C,DLAE

2

A, C,D,B.E
3. D,E.C.AB
4. C.B.AE.D

Options :

686340171509. 1
686340171510. 2
686340171511. 3
686340171512. 4

Question Number : 78 Question Id : 68634043420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS ¢ © e dardl [Eatsal &1 I:e1 (@161 96 gU aansdl & 8ise)) & S1YR IR F3 11 &1 9ed
§U % I ogafRyd S

A. gl §Td

B. Bc &l

C. @@l

D. pas!
E. 9he ald

- fau Y famedt & 9 Tel ST o 904 Sifvie:

1.B.C. DA E

2

A D B, E
3. D.E.C.A.B
4. C,B.AE.D

Options :
686340171509. 1



686340171510. 2
686340171511. 3
686340171512. 4

Question Number : 79 Question Id : 68634043421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With reference to the establishment year of the Institutes / Associations. arrange them in chronological order.

A. National council for teacher education

B. Indian Olympic Association

C. National service scheme

D. National Cadet corps

E. Laxmi Bai National institute of physical education, Gwalior.

Choose the correct answer from the options given below:

1.B,E.A.C,D

| )

A C.DLE. B
3.B.D.E.C.A
4. C.D.B.AE

Options :

686340171513. 1
686340171514. 2
686340171515. 3
686340171516. 4

Question Number : 79 Question Id : 68634043421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RO T4 & T 1 9 SRIeye/ATa! & HIaPHTHR HaRyd S|

A. fRraes fRram giveg

B. s g9

C. Har gierHm

D. FoC IR

E. A& 913 9T QRIS e S=T, iR

= feu e fasredi § 9 98l IR &1 994 Sifve;

1.B.EA.C.D
2.A.C.,D.E.B
3.B.D.E.C.A
4.C.D.B.A.E

Options :

686340171513. 1

686340171514. 2

686340171515. 3
686340171516. 4

Question Number : 80 Question Id : 68634043422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In Athens. new born was thoroughly examined by the state authorities and if found a weakling. It
was exposed to Mount Tygris to become food to beasts and birds.

Statement II: Ethics. Aesthetics. Mathematics and Athletics comprised complete education in Athens.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

-2

. Both Statement I and Statement IT are false

L¥ 5]

. Statement I is true and Statement I is false

4. Statement [ 15 false but Statement II 1s true

Options :

686340171517. 1
686340171518. 2
686340171519. 3
686340171520. 4

Question Number : 80 Question Id : 68634043422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:
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Options :

686340171517 1
686340171518. 2
686340171519. 3
686340171520. 4

Question Number : 81 Question Id : 68634043423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Theory of faculty was discarded on the basis that a faculty (Thinking. memory perception) can
not be considered as a whole and each faculty may be having several divisions to form a unit.

Statement II: The generalisation theory holds that transfer of training takes place in the form of ideals.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true and Statement II is false
4. Statement I is false but Statement II 1s true
Options :
686340171521. 1
686340171522. 2

686340171523. 3
686340171524. 4



Question Number : 81 Question Id : 68634043423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PHYTI: Bbee! b RIGId B 58 YR TR @IRel B 301 741 U1, 73 T Bbee| &1 AYUl g] GH1
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Options :

686340171521. 1
686340171522. 2
686340171523. 3
686340171524. 4

Question Number : 82 Question Id : 68634043424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Arrangement of fibers differs in various muscles. In some muscles the fibers are parallel to the
long axis of the muscles. in some they have narrow attachment.

Statement IT: Skeletal muscles always act in groups rather than singly.

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true and Statement II is false

4, Statement [ 15 false but Statement II is true

Options :
686340171525. 1



686340171526.2
686340171527. 3
686340171528. 4

Question Number : 82 Question Id : 68634043424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁﬁiﬁﬁqm%

FY= 1: faft iR o dqeil @1 ooaw i Sl 8 $o Aol # og nieuinl @1 ol gt &
JAR B &, TS H 3@ GBIl Sfeaiic ST e
BYA IL: HHT B AURRAT SHRI a5 B ol GHg J &1 Bl o

SRI DY & HTalid 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 B
1. HYFI ARG T §

[ ]

HYT1 IR 11 SHT S §

YT I I AP S 1 3T §

L]

4, PYTIITI S APIBYA N TS

Options :

686340171525. 1
686340171526. 2
686340171527. 3
686340171528. 4

Question Number : 83 Question Id : 68634043425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Hepatitis ' B ' 1s a potentially serious form of liver inflamation due to infection by Hepatitis ' B '
Virus.

Statement II: Hepatitis 'B' vaccine's outer layer 1s covered by protein and Hepatitis 'B' surface Antigene.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

-2

. Both Statement I and Statement IT are false

. Statement I is true and Statement I is false

L¥ 5]

4. Statement [ 15 false but Statement II 1s true

Options :

686340171529. 1
686340171530. 2
686340171531. 3
686340171532. 4

Question Number : 83 Question Id : 68634043425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIEEAEIC AR R 4

Eﬁﬂ?%]: sUcEiey dl' 97y & YehUUl & HRUI IPhd Bl JolH, HTidd =9 ¥ gUesicd d & UH iR
U g

HYT I TUCTSeN dh JaRIH BT 9T SMaR0 W SR gl TeieH 9 g& |l g

SWRIF DY & 3H1alld 1, H1d 2y 7Y f[deedi T 9 9 Suge STk &1 99 S
1. YT AR IS T &

2. HYF 13RI SHT 3 ©
3. BUT I FA € Wb BYT I 3T ©

A DY T AP T DU IA T

Options :

686340171529. 1
686340171530. 2
686340171531. 3
686340171532. 4



Question Number : 84 Question Id : 68634043426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: If the direction of acting force is known, stability can be increased by moving the line of gravity
as close as possible to the edge of the base where the force 1s expected.

Statement IT: Body weight 1s indirectly proportional to stability.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement II are false
3. Statement I is true and Statement II is false

4. Statement I i1s false but Statement IT is true

Options :

686340171533. 1
686340171534. 2
686340171535. 3
686340171536. 4

Question Number : 84 Question Id : 68634043426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYE 1. I fpar<iiad 90 3 320 14 3. T sy W@ § a1 94d 8 9@ YR & [$IR & Pea
o &Y FRRA & 9211 &l 9%l 6. 5al 99 I HY&T BT 9l 8

HYT I1: TRR 1 o IVAE =9 Y R & I eI 8

SIS Y & HTaile |, A< 23U U fdeedi T I 9 Sugad SRk &1 99 S

1. PYA IR T &

2. HYT1 AR 11 SHT ST S

3. PYTI IR APTHYTII 3T &

4, YT T ¢ AP U I TA &

Options :

686340171533. 1
686340171534. 2
686340171535. 3
686340171536. 4



Question Number : 85 Question Id : 68634043427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: An alternative casual hypothesis is descriptive hypothesis. which reference causation but
assumes the different characteristics of behaviour.

Statement II: The Null hypothesis is the prediction that there is no difference between or among the group.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

3. Statement I 1s true and Statement II is false

4. Statement [ 1s false but Statement II is true

Options :

686340171537. 1
686340171538. 2
686340171539. 3
686340171540. 4

Question Number : 85 Question Id : 68634043427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁﬁ’iﬁﬁqm%

PYF I UH dB 0 AHWH TG, FUHTHS IS 6. ol S-SR &l Tefild Sl & afed
asR &I fafir fagryars & aFdl &
HYT LR IRGed 98 Hiawah e o F i o8 SR T8l §

SURIG Y & 3HTaiid 1, H1d 2y 7Y fdeedi T I 9 Sugad SR &1 99 B
1. YT AR EHT T &

2. PYF 1 3R 11 ST 3T ©
3. PUTI I € AfhT BYT I 3T ©
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Options :



686340171537. 1
686340171538.2
686340171539. 3
686340171540. 4

Question Number : 86 Question Id : 68634043428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Comprehensiveness of a test means it should be vast enough to assess maximum aspects of one's
ability. If a test is comprehensive its means it will be more stable and reliable.

Statement IT: If a test 1s administered by two different persons to the same student under same condition and
the results remain similar, test will be called valid.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

b2

. Both Statement I and Statement II are false
3. Statement I 1s true and Statement IT is false

4, Statement [ is false but Statement II is true

Options :

686340171541. 1
686340171542. 2
686340171543. 3
686340171544. 4

Question Number : 86 Question Id : 68634043428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁaaﬁﬁ’iﬁﬁqm% :

HY 1. U W& B sl o 31 § o ol ot amar & sifdesan ggqsil &1 siiead &1 & [au
Ug Ui g Ofe ®Ig Udie 29 © df S9&T Haad ¢ & g 3ifde fRR ok fayg-a g

FYF I T1S Tl TR0 &1 -3 Sfaadl gRI UE of FRuUfd & U &1 81 | G 31 orar 8 8
OfUTTH T T8d § o T80 B a4 HET o

SWRIF DY & 3H1alld 1, H1d 2y 7Y f[deedi ¥ 9 9 Suge STk &1 99 B
1. YT AR I ST T &
HYF 1 AR AT 3T §

YT I A PTSUT1 3 T §

[ ]

L¥ ]

4 YT AT S APTIHUT I T

Options :

686340171541. 1
686340171542. 2
686340171543. 3
686340171544. 4

Question Number : 87 Question Id : 68634043429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The English word 'Culture' is derived from the latin term ' Cult or Cultus' which means:

A. Tilling

B. Cultivating

C. Root

D. Refining and worship

Choose the most appropriate answer from the options given below:
1. B and D only
2. Aand B only
3.A. Band Conly

4. A. B and D only

Options :

686340171545. 1
686340171546. 2
686340171547. 3
686340171548. 4

Question Number : 87 Question Id : 68634043429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
iUl & ¥ag Pear’ (SpI) DI e HINT & e ‘Bee I ey I forar 7 § forweT s 6:
A. gl 9l
B. Wil AT

C. S
D. GRS d d Yulleh=H]

19 f3u e fasedl § 9 &l SUged IR &1 999 BIfe;
1.$aAB 3R D
2. PIA AR B
3.%adA. B3R C
4. $TAA.B AR D

Options :

686340171545. 1
686340171546. 2
686340171547. 3
686340171548. 4

Question Number : 88 Question Id : 68634043430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With specific reference to exhalation during respiration process. in human body, which of the following
statements are NOT true?

A. Tt occurs when the size of the thoracic cavity decreases and the pressure outside increases.
B. External inter costal muscles relax and the intra costal muscles contract.

C. The volume of thoracic cavity increases and the air pressure decreases.

D. Contraction of diaphragm further increases the size of thoracic cavity.

E. The ribs are pulled immwards and the size of the thoracic cavity is reduced.

Choose the most appropriate answer from the options given below:

1. A.B.E only

[

.Cand D only
3.B.C and D only
4. C and E only

Options :

686340171549. 1
686340171550. 2
686340171551. 3
686340171552. 4



Question Number : 88 Question Id : 68634043430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T IRR T 49 Wiha1 & SRE 919 B1s- @1 fhariafe & [y de §, Fefafea g e s wayA
RUEHE

A. U8 T4 BId §. 51d 9&i10 81 &1 PR PH 81 oIl ¢ 3R 96 &1 aa1d 96 olldl ¢ |

B. ST ScxeIecd Huig i fRfde g1 oid & #iR oid: SexepRed AiuREl figs o €|

C. TEEI P 31U §¢ oIl § SR a7 &1 Ga1d HH 6l ol 6 |

D. ST & e ¥ & 161 &I HPR 3R §¢ Al &
E. THierdl $iar @1 SR &9 Sl € SiR 981 781 31 R & 8l ol & |

i< fau Y fdeedl § ¥ 999 Iugad IR &1 99 Hifol:
1. PAUA, C
2. $auD.E
3. $ddB. D
4. PIUAE

Options :

686340171549. 1
686340171550. 2
686340171551. 3
686340171552. 4

Question Number : 89 Question Id : 68634043431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are not true with reference to the environmental factors and sports
performance.

A. Temperature of the environment approaches the skin and deep body.
B. Performance of an athlete in high altitude 1s not affected.

C. It 15 important to achieve thermal acclimatizat on prior to the competition.
D. Humudity and air velocity not directly affect the sport performance of an athlete.

Choose the most appropriate answer from the options given below:
1. A& D only
2.C & B only
3.B & Donly

4.B & C only

Options :



686340171553. 1
686340171554. 2
686340171555. 3
686340171556. 4

Question Number : 89 Question Id : 68634043431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wdl UeRH 9 a1yl FR&I & G| § Fefifed s s S e wad Tl §

A GTATaR0T &7 A9 @dl & TS 5 3{1dT 6 dUT TR & 3iex odT &
B. Y@ Fams W Gt &1 ugei- uyifdd el giaT o

C. WdIRTaT ¥ ugd yHd SHod Bl U A1 SGURD g

D. 91 471 4T 3Tgdl (Gars! & YasiH &1 d18 =9 I yuifad 9g1 ol 9

19 f3u e fasedl § 9 &l SUged IR &1 999 BIfe;
1. HATATD
2.Pad CdB
3.PddBID
4. HIGABTC

Options :

686340171553. 1
686340171554. 2
686340171555. 3
686340171556. 4

Question Number : 90 Question Id : 68634043432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are true with reference to the formative and summative evaluation.

A. Formative assessment 18 used to know the weakness and strength of the students.

B. Diagnostic Evaluation is a part of summative evaluation and mostly used to enhance the performance.
C. Objective evaluation is used for formative as well as for summative evaluation.

D. Self-evaluation is a part of summative evaluation in which we can select a player.

Choose the most appropriate answer from the options given below:

1.B & D only

| )

.A & C only
3.A&Bonly

4.B & C only



Options :

686340171557. 1
686340171558. 2
686340171559. 3
686340171560. 4

Question Number : 90 Question Id : 68634043432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT d FATED Jeie & dey RiEfed sl d S s I aa 3|

A, TS 1o BT YN S=d1 &1 HHGIR a1 G & &+ & fore foar smar gl
B. "al-® Ui, TN Jedid- PI ol § aY1 SUHT YaI HeRH & g & (oY [ha1 o g

of mgﬁ‘gﬂﬁﬂﬁﬁﬂﬂﬁﬂ%ﬁﬁﬂ%gﬂ%%%qmm%
D. W4 &1 YUl GRS i1 1 U YT ¢ ford 81 US [Ears! &1 g-1d S g 5 |

i fau U fdeedl § ¥ 998 Iugad Ik &1 99 SHifei:
1.$hddBID
2. PaAATC
3. PAAATB
4. PAUBTC

Options :

686340171557. 1
686340171558. 2
686340171559. 3
686340171560. 4

Question Number : 91 Question Id : 68634043433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the objectives of Extra murals competitions?

A. To Promote social. cultural and economic development through sports.
B. To achieve high performance at highest level of the tournament.

C. To focus on fitness. wellness and health aspects of children.

D. To develop feeling of integration with other institutions.

Choose the most appropriate answer from the options given below:

1. A B.D only

[ ]

.A.B. Conly
3.B.C.D only
4. A C.Donly
Options :
686340171561. 1
686340171562. 2

686340171563. 3
686340171564. 4

Question Number : 91 Question Id : 68634043433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafea d Y e uER ufgifar s Ssg s s I8

A. Wil & gRI UiHIfIh, I¥pide g foxii faerd &

B. WagifiTdr & =9 9 3= UeRH &I g

C. 91 &1 YfY. Garadl 9 W Uggsil W dfsd g

D. GO YT & 1Y UHIHI0] 1 U1 fdp R S
19 f3u e fasedl § 9 &l SUged IR &1 999 BIfe;

1.%dd A.B.D

2. HAdA.B.C

3.%4dd B, C.D

4. PAAA.C.D

Options :

686340171561. 1
686340171562. 2
686340171563. 3
686340171564. 4

Question Number : 92 Question Id : 68634043434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following are the basic rules while performing yogasanas?

A. Yoga should be practiced empty stomach.

B. Relax for 10 seconds at least after each asana.

C. Relax till 40 breath counts.

D. Take sufficient fluid i.e. water. Tea or coffee before practicing yogasana.

Choose the most appropriate answer from the options given below:

1. A& C only

| )

.B & D only
3.A&Bonly
4. C & D only

Options :

686340171565. 1
686340171566. 2
686340171567. 3
686340171568. 4

Question Number : 92 Question Id : 68634043434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad & 3 e o9 & SR yd Fm s I g

A TR ETel U B3] 9gu

B. YD 39 & 918 HH I HH 10 b s DI [d4H Difolw

C. 40 GGl TP HRH B

D. T 34 & Ugd vaid 6 § avd ugred oY UM, =g 91 &It 31fe o

i fau U fdeedl § ¥ 998 Iugad Ik &1 99 SHifei:
1.hadAdC
2. HAABTD
3. PAAATB
4.9adCdD

Options :

686340171565. 1
686340171566. 2
686340171567. 3
686340171568. 4




Question Number : 93 Question Id : 68634043435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For promotion of sports and improvement of standards in the country- Sports Authority of India was
established. Choose from the following options which are not the objectives of SAL.

A. To enforce all rules and regulations of IOC.

B. Develop and manage sports infrastructures.

C. Encourage research and development in sports and games.
D. To provide technical and other assistance.

E. To mamtam the highest ideals of amateurism.

Choose the most appropriate answer from the options given below:
1. A& E only
2.B & C only
3.D & C only
4.D & A only
Options :
686340171569. 1
686340171570. 2

686340171571. 3
686340171572. 4

Question Number : 93 Question Id : 68634043435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<X T Wl B §gral 4 U7 30 GHR B & 17 YR Ta Wil &1 1 31 715 Fafiiad
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A, 313 3. 91 qoc) & g+t Aol g fafawt & ] &
B. €d & HoYd ¢id DI Udfed 9 faeb ¥ &1
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D. dPA1D] d 30 Teadl Ua el
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19 fau T fasedl § 9 Had Sugad IR &1 999 BIfe;
1. FATATE
2. PaABTC
3.PadDAC
4, HGADTA

Options :




686340171569. 1
686340171570. 2
686340171571. 3
686340171572. 4

Question Number : 94 Question Id : 68634043436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

Match the sports festivals given below:

LISTI LISTIT
Phacacian game| 1. [Zeus
[Nemea festival | I1. [Posedoin
Isthmi festival |1 [Odysseus
Pvihia festival | IV, [Appollo

Ofo|w)=

Choose the correct answer from the options given below:

1. A-IV. B-II. C-I, D-III

|

A-IILL B-1. C-I1. D-IV
3. A-I1, B-1. C-III. D-IV
4. A-1. B-II. C-III, D-IV

Options :

686340171573. 1
686340171574. 2
686340171575. 3
686340171576. 4

Question Number : 94 Question Id : 68634043436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

Tt 1 T
A [BURIE 1 [
B. [ @er | n [oEidisq
C EREidER |u [sfeRem
D. [q=iim AR | 1v. [3ar
frrafelad faseal & 3 98l IR @1 991 DI -

1. A-IV. B-II. C-1, D-III

| o

A-IILL B-1L C-I1, D-IV
3. A-Il, B-1. C-III. D-IV
4. A-1. B-I1. C-III, D-IV

Options :

686340171573. 1
686340171574. 2
686340171575. 3
686340171576. 4

Question Number : 95 Question Id : 68634043437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Experimentalism Drdewyism after the name of John Dewey| 1 |Self-Leamning
Trail and error learning is II. |Intellectualism
A ristotle put greater stress on III. |Kretchmer
Proposed body classification on the basis of shape and size | IV, |Pragmatism

T REE

Choose the correct answer from the options given below:

1. A-I. B-II., C-III. D-IV

| )

A-II, B-II1, C-IV. D-1
3. A-III B-IV. C-1. D-II
4. A-IV. B-1. C-II, D-III

Options :

686340171577. 1
686340171578. 2
686340171579. 3
686340171580. 4



Question Number : 95 Question Id : 68634043437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

Tt T 11
A [SF S @ M 1R JEEIG geadla L [ed O dgn
B. [gtemr 3 71 9 e I [sifgahd
C. pRg ofiw Ta e IIL. PR3
D. [eRR @1 & li®0), 3eR 4 d 1Y o YR G2 uiquried | V. [Hriaed (33deR
fFafaRad fdwedl O O U1 IR &1 994 I :

1. A-I. B-II. C-II1. D-IV

| ]

. A-ILL B-III. C-IV, D-1
3. A-IIT, B-IV. C-1. D-II
4. A-IV, B-1, C-11, D-III

Options :

686340171577. 1
686340171578. 2
686340171579. 3
686340171580. 4

Question Number : 96 Question Id : 68634043438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Parasympathetic Nervous Svstem| I [Helps us in controlling muscle movements and balance
B. [Peripheral Nervous Svstem II. [Bodv's House Keeping Svstem
C. |Central Nervous System IT1. |Contains 43 pairs of Nerves (Spinal and Cranial nerves
D. [Cerebellum IV, |Contains bramn and spinal cord

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV

| E)

. A-IL B-III. C-IV. D-1
3. A-IIT, B-IV. C-1. D-II
4, A-IV, B-1, C-11, D-III

Options :

686340171581. 1

686340171582.2
686340171583. 3



686340171584. 4

Question Number : 96 Question Id : 68634043438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

Tqe I T I
A [IRRyrgdies 9y OeH | 1 [Eded 9 Ji9URiig gadal & H3a0 H Tedd
B. [iRb@di@ dE | 1. RRR & @ @ @ Sed
C. [2g dHdl o= 111 [dEaTaHl & 43 SIS 8141 (FT3-d 3R Si-4d dEHI)
D. [afead V. [AfTsE 9 Hecs & QMHd gl
fFrafeiad faseal o 9 Tel TR &1 997 S -

1. A-I. B-II. C-II1. D-IV

| ]

. A-ILL B-II1. C-IV, D-1
3. A-III, B-IV, C-I, D-II
4. A-IV. B-1, C-II. D-III

Options :

686340171581. 1
686340171582. 2
686340171583. 3
686340171584. 4

Question Number : 97 Question Id : 68634043439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

e LIST I (Descriptions)
A [Penalrv Stroke I When position is unclear, two opposite plavers tap their sticks above the ball to
: restart play
B. [Flick II. [Free one on one shot
C. [Bully I11. |Using wrists to put force behind the ball to raise it
D. [Tackle IV, |Defensive effort to take ball away from the opponent.

Choose the correct answer from the options given below:
1. A-I. B-IV. C-1I. D-ITI
2. AL B-III. C-1. D-IV
3. A-IIL B-II. C-IV, D-I

4. A-IV. B-1. C-III. D-II



Options :

686340171585. 1
686340171586. 2
686340171587. 3
686340171588. 4

Question Number : 97 Question Id : 68634043439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-L. B-IV, C-I1, D-III

(B

. A-IL B-III. C-1, D-IV

CA-IILL B-11. C-IV, D-1
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4. A-IV, B-1. C-III. D-II

Options :

686340171585. 1
686340171586. 2
686340171587. 3
686340171588. 4

Question Number : 98 Question Id : 68634043440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Name of the test items) LIST II (Objective of the test)
A |Chin-up 1. |Explosive Strength of leg
B. [Shuttle-run 11, |Speed and agility
C. [Soft-ball throw IT1. |[Explosive Power of shoulder muscle
D. [Standing broad Jump IV, |Muscular strength of the shoulder

Choose the correct answer from the options given below:

1. A-IV, B-I. C-III. D-II

| ]

AL B-IIL, C-1L D-IV
3. A-IV, B-11, C-I11, D-I
4. A-I1. B-111. C-1. D-IV

Options :

686340171589. 1
686340171590. 2
686340171591. 3
686340171592. 4

Question Number : 98 Question Id : 68634043440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV. B-I. C-III. D-II
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AL B-ILL C-1L D-IV
3. A-IV. B-1I, C-II1. D-I
4. A-I1. B-1II. C-1. D-IV

Options :

686340171589. 1
686340171590. 2
686340171591. 3
686340171592. 4



Question Number : 99 Question Id : 68634043441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Name of Plaver) LIST IT (Arjun Award)

A Manoj Bhargava I |Swimming-1974
B. [Limba Ram 11 [Kabaddi-2019
C. |Ajay Thakur IT1. Hockey-2020
D. [Shivender Pratap Santosh Singh | IV |Archery-1991

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV, D-III

| )

A-ILL B-IV, C-I1II. D-1
3. A-L. B-IV, C-II, D-III
4. A-I1, B-111. C-1. D-IV

Options :

686340171593. 1
686340171594. 2
686340171595. 3
686340171596. 4

Question Number : 99 Question Id : 68634043441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IL. B-I1. C-IV, D-III

|

A-IL B-IV, C-I11. D-1
3. A-L. B-IV. C-II, D-III
4. A-IL. B-III. C-I. D-IV

Options :

686340171593. 1

686340171594. 2
686340171595. 3



686340171596. 4

Question Number : 100 Question Id : 68634043442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST T (Names of Institutes) LIST IT (Official Venue)
Sh. Hanuman Vvayam Prasarak Mandal| 1. [Lucknow
Christian College of Phvsical Education] 11 [Calcutta
Indian Olympic Association IT1. |Amaravati

[Amateur Kabaddi Federation of India | IV. [New Dellu

REE

Choose the correct answer from the options given below:

1. A-IIL B-1II, C-IV. D-I

| E)

. A-ILL B-IV, C-I. D-III
3. A-IIT, B-1, C-IV. D-II
4. A-IV, B-1II. C-I. D-II

Options :

686340171597. 1
686340171598. 2
686340171599. 3
686340171600. 4

Question Number : 100 Question Id : 68634043442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL B-1II. C-IV. D-I
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. A-IL B-IV, C-I, D-ITI
3. A-III, B-1. C-IV. D-II
4. A-IV. B-III. C-1. D-II

Options :
686340171597. 1



686340171598. 2
686340171599. 3
686340171600. 4



